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Legend

Each of beam groups is played as fast as possible (the lengths of rhythmic figures are correlated
with each other). Every pause in the piece has its certain time interval:

e ——Y —¥r— ;v —%— g5 % the shortest pause
Comma (pause) means the mechanical stop of any action o
FaEs
Arrows show the direction of the bell while playing T w \|/ down
A
»)— extremely high sound —> normal position of the bell
sf
—_ 2" 1"
7 frullato - inhale in the instrument exhale in the
% e v instrument
sf
+ — _
— s With mute :% without mute
@
I i 1
- ' Clrcular rotation of the mute in the bell is used to make the squeak.
' The number in the circle shows the length of the rotation (in seconds).
B — ' Metallic mute should be used for creating the required effect.
\& J .Il N X
[
—- \\ The line shows the duration of the first note. The note with the shar
. accent interrupts it and then the sound of the first note should be
P e continued.
sf
L
TKT to play any notes with double tongue as fast as possible in the indicated direction

according to the marked notes.




Presto possibile
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